
L3(5).2 (mod 31)

blocks defect matrix

G : 1 1 11× 6
2 0 311 = χ3,0, ϕ3,0

3 0 312 = χ3,1, ϕ3,1

4 0 621 = χ4+, ϕ4+

5 0 1241 = χ16,0, ϕ7,0

6 0 1242 = χ16,1, ϕ7,1

7 0 1243 = χ17,0, ϕ8,0

8 0 1244 = χ17,1, ϕ8,1

9 0 2481 = χ18+, ϕ9+

blocks defect matrix

10 0 2482 = χ20+, ϕ11+

11 0 2483 = χ22+, ϕ13+

12 0 2484 = χ24+, ϕ15+

13 0 1551 = χ27,0, ϕ17,0

14 0 1552 = χ27,1, ϕ17,1

15 0 3101 = χ28+, ϕ18+

16 0 1861 = χ30,0, ϕ20,0

17 0 1862 = χ30,1, ϕ20,1

Block 1: ϕ1,0 ϕ1,1 ϕ2,0 ϕ2,1 ϕ6,0 ϕ6,1

11 = χ1,0 1 . . . . .
12 = χ1,1 . 1 . . . .

301 = χ2,0 1 . 1 . . .
302 = χ2,1 . 1 . 1 . .
1921 = χ6+ . . . . 1 1
1922 = χ8+ . . . . 1 1
1923 = χ10+ . . . . 1 1
1924 = χ12+ . . . . 1 1
1925 = χ14+ . . . . 1 1
1251 = χ26,0 . . . 1 1 .
1252 = χ26,1 . . 1 . . 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ2,0 = 291
ϕ2,1 = 292
ϕ6,0 = 961
ϕ6,1 = 962


